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Ioxvc (Power —Watt) Epyo (Work Joule) Evepyela Xpovog (sec)

Epyo = Avvaun * Metatonion

[Ticon = Avvaun * Enwpavela
Oyxo¢ = Metatonion * Enwpdvela
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fonction [V]=vVolume (theta)

= 80.26/1000; % Cylinder Bore (m) ok
. = 88.90/1000; % Piston S5troke (m) ok
cr= 19.31; % Compression Ratio ok
1 =160.00/1000; % Connecting Rod (m) ok
a =LfZ; % crank radius ok
Vaw=L*pi* (Bf2)*2; %swept wvolums

Vo=Vaw/ (cr-1) ;£Vc=2.3%478e-05; Fclearance wolume (m3)

% Heyvwood
s=a¥*cosd(theta)+((1*Z)-((a”*2)y*{{(=zind(theta) )} .™*2))) ."0.5;
V=Vc+ (pi*B*2) /2 . * (14a-3) ;



EpyaoTtnpiakn Aoknon 8

To SUVAUOOEIKTIKO dIAypaNuUa

Angle

1T

DE

=)

rad=theta*pi/180;

a= L.'rZ,

Vaw=L"pi"pow(B/2,2);

Ve=Vew/(cr-1);

s=a*cosirad)+pow(pow(l,2)-(pow(a,2) pow(sin(rad],2)),0.5);
V=Ve+ (pitpow(B,2))/4*(1+a-5);

s =acos 8 + (I* — a® sin? §)'12 . (2.5)
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